Chapter 10 – Additional Problems

Transportation and assignment problems

1.
In Table 10-17, which cell should be filled on the next iteration?

	Table 10-17

	
	To==>
	1
	2
	3
	Dummy
	Supply

	From
	A


	|  10


	|   8

80
	|  12

20
	|   0

	100

	
	B
	|   6
120
	|   7

	|   4
30
	|   0

	150

	
	C
	|  10

	|   9

	|   6
150
	|   0
100
	250

	
	Demand
	120
	80
	200
	100
	



(a)
A1


(b)
ADummy


(c)
B2


(d)
C1


(e)
C2

2.
The solution presented in Table 10-18 is


(a)
infeasible.


(b)
degenerate.


(c)
unbounded.


(d)
optimal.


(e)
none of the above

	Table 10-18

	
	To==>
	1
	2
	3
	Dummy
	Supply

	From
	A


	|  10


	|   8

80
	|  12


	|   0
20
	100

	
	B
	|   6
120
	|   7

	|   4
30
	|   0

	150

	
	C
	|  10

	|   9

	|   6
170
	|   0
80
	250

	
	Demand
	120
	80
	200
	100
	


3.
A company must assign mechanics to each of four jobs.  The time involved varies according to individual abilities.  Table 10-21 shows how many minutes it takes each mechanic to perform each job.  If the optimal assignments are made, how many total minutes would be required for completing the jobs?


(a)
0


(b)
4


(c)
17


(d)
16


(e)
none of the above

	Table 10-21
	
	Job (Time in Minutes)

	
	
	1
	2
	3
	4

	Worker
	A
	5
	9
	5
	7

	
	B
	3
	8
	4
	4

	
	C
	5
	5
	8
	4

	
	D
	7
	4
	5
	5


4.
Table 10-26 presents the data for an assignment problem.  Solve this problem.

	Table 10-26

	
	Jobs

	Person
	1
	2
	3
	4

	1 
	5
	7
	5
	6

	2 
	5
	4
	5
	4

	3 
	6
	5
	6
	4

	4 
	6
	6
	5
	7


The appropriate assignments are:

	Answer (a)
	
	Answer (b)
	
	Answer (c)
	
	Answer (d)

	
	Jobs
	
	
	Jobs
	
	
	Jobs
	
	
	Jobs

	Person
	1
	2
	3
	4
	
	Person
	1
	2
	3
	4
	
	Person
	1
	2
	3
	4
	
	Person
	1
	2
	3
	4

	1
	1
	
	
	
	
	1
	
	1
	
	
	
	1
	
	
	
	1
	
	1
	
	
	1
	

	2
	
	1
	
	
	
	2
	1
	
	
	
	
	2
	
	
	1
	
	
	2
	
	1
	
	

	3
	
	
	
	1
	
	3
	
	
	1
	
	
	3
	1
	
	
	
	
	3
	
	
	
	1

	4
	
	
	1
	
	
	4
	
	
	
	1
	
	4
	
	1
	
	
	
	4
	1
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